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Question‘ [1] : , ' | , (16 marks)

For the given continous beam shown in Fig. (1), it is required to:

a- Find the value of the uniform load (w ) such that the max. positive moment in span (bc) equal (4 t.m)
b- Draw the the S.F and B.M. Diagrames.
c- Calculate the vertical deflection at point (d) by using virtual work method ( EI = 10000 t.m’ )
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Question [2] | | e | ( 15 marks)

The beams (a-b-c) and (d-e-f) with constant El are connected to each other by the regid

' pendulum (c- e) as shown in Fig. 2. Draw B.M. and S.F Diagrams for the tow beams
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Question [3] o (20 marks)

a- For the given continous beam of constant EI shown in Fig. (3), it is required to:

Draw the Max. and Min. curves of S.F and B.M. due to live load equai 4 t/m

L.L=4 t/m
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b- For the truss shown in Fig.4, it is required to l~4_ ton 8 ton
Calculate the vertical deflection at joint (c)
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Question [4] ( 16 marks) ’ T ' !
For the given frame shown in Fig. 5, draw the N.F, S.F and B.M. Diagrams. Take I,=21,
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Question [5] o | ( 18 marks)

For the structure shown i n Fig.6, it is required to calculate the maximum value of load
(P) such that the steel column c-b is safe due to buckling. the cross section is HEB No. 280

with the given properties. Pt, . Pt Pt Pt
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Remarks: (answer all the following questions, and assume any missing data)
(answers should be supported by sketches)
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